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CIRCUIT ALIGNMENT loop for aligning the r.f, circuits; and three
Transistor Table Two methods of if. alignment are non-metallic trimming tools. For visual
given: a visual method (the preferred alignment of the if. circuits, a wobbulator
Transistor \ Emitter ‘ Base icoumor method), and a meter method if visual and oscilloscope are required additionally.
[ ) W) alignment equipment is not available, . .
TR AFIS | o T Tos | 730 Equipment Required.—An a.m. signal I.E. Alignment (Visual Method)
TR2 AF117 069 | 08 | 500 generator with suitable modulation; an 1, —Switch receiver to m.w. and fully
TR3 AF117 110 | 138 7-40 output wattmeter with an impedance of mesh the tuning gang. Turn the
%Eg 88;}1) (1"_?2 i (1):;8 3% 15 ohms or an a.c. voltmeter; an aerial volume control to minimum,
TR6 OCS1 I — ‘ 017 | 900 pad made up as shown overleaf for align- 2.—Connect the oscilloscope across the
TR7 OC81 | — 017 | 900 ing the external aerial circuits; a length volume control RV1. Connect the
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of insulated wire formed into a coupling

wobbulator to the if. panel input



|

Resistors . Cl4 300pF K4 ! L7 1-6 33 B2 for rpaximum output. Then switch to
R1 33kQ Ja C15 300pF K4 ‘ L8 1-6 10 B2 the internal aerial position and recon-
R2 68kQ  J4 Cl6 0-1uF K4 | L — 150 — nect the signal generator to the r.f.
R3 1kQ J4 C17 12:5uF Ja lin 1 Ad'u CT2 (DZ) ai
R4 1009 K4 Gig  00TF  T5 | Transformersr coupling loop.  Adjust ( ‘
lPig 68002 TK4 gg 0-:022uF 75 1-8 53 1,300kc/s for maximum output.

— 250pF 15 1-2 35 — i until ther
R7 6skG o a1 Gorr 1B IFT112 3540 1 5.~ Repeaft ot%eratl.ons 3 and 4t ﬁlithi €
RS 56k J4 C22 0-01uF 16 46 50 lS. no Iurther umprovement, ‘n shing
Ié?o 263158 11?4 8%:31 lzgulF? §5 with the 1,300k¢/s adjustment.

25u 5 1-8 53 6.—Switch receiver to lLw. and tune to
11 z . A . :

R vk }(55 &z }28@ & 1FT2¢ 32 210 55 260kc/s. With the aerial switch at
113431 84-;1(8 }g 827 0-0luF L4 \‘ 4-9 1.9 internal, feed in a 260kc/s signal via

0 28 0-0luF L5 the coupling loop and adjust CT7 (A2)
R15 330Q 5 C29 320uF L5 8 3 A
R16 3.9k} {(5 C30 4051: D2 | IFT3 1-8 36 J5 and CTl (CZ) for maxnn!:lm output.
Iég %?33 % 8’% 389{:_‘ gé 1-2 2040 Then switch the aerial switch to ex-

D T1 {4-5 95-0 i
R19 68k2 K5 CT3 4pF D2 | {5_6 95.0} K> temﬁl and coqplle thlf signal thgenerat_orl
R20 150k L5 CT4 40pF C2 | to I € car acn? sQcket via € specia.
E%é gzgg ﬁg g;g 4gp§ gg 1-2 1-6 aerial pad. Adjust CT4 (C2) at 260kc/s
2 Y 40p 2-3 1-6 i

R23 330 K5 CT7 40pF A2 T294E 117 L5 for maximum °mput'175k 4 feed
R24 47kQ 5 CT8 40pF B2 5-6 11 7.—Tune_ receiver to c/s and fee
RV1 5k J5 CV1 326pF A2 in a 175kc/s signal. Adjust LS (C2)
RV2 1:5kQ K5 CvV2 326pF A2 Miscellaneous for maximum output. Then switch to

Capacitors . Bé 82;? '{;‘ the internal aerial position and recon-

8; ggpg 1822 ci:l:s* w7 ca S1-S3 2 nect the signal generator to }I)le r.f.
p i S6-S17 - i . Adjust L 2) at
C3 0-01uF J4 L2{1_3 10'6} D2 S4,'S5, - (lzoullzhngf 100p . d)u T 2 ( )
C4 0-1uF 4 1-2 12 S13, 519 75kc/s for maximum output.
82 _2,88"1; ﬁ %2 — glz 253'532279 — 1352 8.—Repeat operations 6 and 7 until there
P _— s — ) . . P
C7 0-022uF A2 1-6 230 I is no further improvement, omitting the
C8 1,200pF  C2 L5{ 1-5 10:9 Cc2 ) adyqstmept of CT7 in operation 6.
g?o gggpg %% 3-4 — €Sec iflaf. panel capi Finish with the 260kc/s adjustment.
i oJladf. an caption 1 1 H
Cl1 s ¥ 1-6 4.2 overleaf. . 9.—S_w1tch receiver 1o s.w. and the aerial
Cl2 0-1luF J4 H L6{ 1-5 1-0 Cc2 *Approximate d.c. resisiance switch to the mterqal position. Fully
C13 01.F M i 3-4 — n ohms. extend the telescopic aerial. Tune to
l

| +No component.

6.2Mc/s, feed in a 6.2Mc/s signal at
the car aerial socket via the special

LLF. Alignment (Meter Method)

1.—Switch receiver to m.w. and fully
mesh the tuning gang. Turn the
volume control for maximum output,

-2~Connect the output meter or a.c.
voltmeter across. the loudspeaker
terminals leaving the loudspeaker con-
nected in the case of the a.c. voltmeter.
Connect the signal generator between
chassis and the if. panel input terminal
at C3 after removing the connection
from the r.f. panel.

3—Feed in a 470kc/s modulated signal
and adjust the cores of IFT3, IFT2
and IFT1 in that order for maximum
output. Repeat with reduced signal
input until there is no further improve-
ment. Reconnect the rf. output con-
nection to the i.f, panel input terminal.

R.F. Alignment

1.—Switch the receiver to m.w. and switch
the aerial switch to the internal position.
Rotate the tuning gang to maximum
capacitance and check that the red line
of the cursor coincides with the zero
mark on the logging scale. Adjust the
volume control to a convenient level,
keeping the signal input as low as pos-
sible to avoid a.g.c. action. Connect
the signal generator to the r.f. coupling
loop and loosely couple the loop to the
ferrite rod aerial.

2.—Tune receiver to 600kc/s, feed in a
600kc/s signal and adjust L7 (location
reference B2) for maximum output.
Then tune receiver to 1,300kc/s, feed

in a 1,300kc/s signal and adjust CT6

(A2) for maximum output. Repeat this
operation as necessary finishing with
the 1,300kc/s adjustment.

3.—Tune receiver to 600kc/s and feed in

C 47O 15pF
Receiver

Input

=

90pFT J—
o

Circuit diagram of the aerial marching pad.

If the car aerial lead capacitance varies

considerably from a nominal value of 90pF,

the 90pF capacitor in the pad should be
replaced accordingly

a 600kc/s signal. Adjust L3 (B1) by
sliding its former along the ferrite rod
for maximum output. Then switch the
aerial switch to the external position
and couple the signal generator to the
car aerial socket via the special aerial
pad shown above. Adjust L6 (C2)
at 600kc/s for maximum output.
4.—Tune receiver to 1,300kc/s. Feed in
a 1,300kc/s signal and adjust CTS (C2)

aerial pad and adjust L8 (B2) for maxi-
mum output.

10.—Tune receiver to 16.5Mc/s and feed
in a 16.5Mc/s signal. Adjust CTS8 (B2)
for maximum output.

11.—Repeat gperations 9 and 10 as neces-
sary finishing with the 16.5Mc/s adjust-
ment.

12.—Tune receiver to 6.2Mc/s and feed
in a 6.2Mc/s signal. Adjust L4 (D2)
for maximum output.

13.—Tune receiver to 16.5Mc/s and feed
in 16.5SMc/s signal. Adjust CT3 (D2)
for maximum output.

14.—Repeat operations 12 and 13 uniil
there is no further improvement, finish-
ing with the 16.5Mc/s adjustment.

AUDIO BIAS ADJUSTMENT

The audio bias potentiometer RV2
should be set in the following manner:

Insert a milliammeter between the
battery negative line and tag 2 of T2. A
test link is provided to facilitate this con-
nection. With no signal input, adjust
RV2 for an output stage current reading
of 6.5mA. Remove the meter and re-
solder the test link.

ILF. RESPONSE CURYVE
i AT kefs
S:Bs:{)gts::lr: Drive drum 1Ji,r_lfl I%Jh;,l 20 45 10 5 0 5 40 15 20
Holeindrum 20 ‘ _—
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Drive cord assembly illustrated with the tuning gang fully meshed. When replacing the cord,
note the relative positions of the drive drum, cursor and tension spring (see < General Notes”’)
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